Operations with Hexadecimal Numbers (A)

E716)24DCB61¢

1C9B815

— FETE;q

63,6)5F 777716

15C054

— 93E644

700914

+ DE88;4

Calculate each answer.

6816)33D904

486D 15

— 253044

6DCCy4

X 3Dig

376F 4

X 2Eqi6

F58914

+ A4FDqg

384314

+ A76014

6416)2C84E0

4D;)416D4E

12ECC4

— 53CE4

12A6414

— 695Dy4

8116)96A2F16

A73214
— 631544

2A661¢
+ 82F7¢

CF8Byg
+ A39144

16FD91¢
— 850544
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Operations with Hexadecimal Numbers (A) Answers

28DA1g

E716)24DCB61¢

1C9B815

— FETE;q

CB3As6

F6DDyg

6316)5F 777716

15C054

— 93E644

C81F 5

700914

+ DE88;4

14E9144

Calculate each answer.

7FA16

6816)33D9014

486D 15

— 253044

233Dy6

6DCC16
X 3Dig

1A299C6

376F 4

X 2Eqi6

9F5F2;6

F58914

+ A4FDqg

19A8616

384314

+ A76016

DFA36

71F816

6416)2C84E0

D98614

4D;)416D4E

12ECC4

— 53CE4

DAFE;¢

12A6414

— 695Dy4

C10746

12AF ¢
8116)96A2F16

A7324
— 631544

441Dqg

2A661¢
+ 82F7¢

AD5Dy4

CF8Byg
+ A39144

1731Cy5

16FD91¢
— 850544

EAD4 ¢
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Operations with Hexadecimal Numbers (B)

6EFA 4
X Abyg

F6C4 14
+ 615944

590814
X 4016

8515)50B8E 4

9F7Cy6
+ FC716

Calculate each answer.

174E1

— B80314

5BB214

+ EF5F 4

C27014

X 501g

EAD16

X 104

ED371

— 2CD344

AOA146

X 2F6

CA6614

+ 70B214

7D7816

+ 272614

1411By;

— 956844

D2;6)B02A52;4

B2CDyg
+ FOE64

52A16
+ 9FE244

2914)15941C14

B215)8A601614

4F2F 6
— 44E8;
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Operations with Hexadecimal Numbers (B) Answers

6EFA;¢
X Abyg

47872216

F6C4 14
+ 615944

1581Dy4

590814
X 4016

16420016

9B614
8516)50B8E g

9F7Cy6
+ FC716
AF43

Calculate each answer.

174E1

— B80344

BCDE ¢

5BB2;6

+ EF5F 4

14B11;

C27014

X 5016

3CC3001¢

EAD16

X 1016

EAD1044

ED371

— 2CD344

C064 14

AOA146

X 2F6

1D7D8F;

CA6614

+ 70B214

13B1814

7D7816

+ 272614

A49E

1411By;

— 956844

ABB3y4

D6C1 1

D2;6)B02A52;4

B2CDyg
+ FOE64

1ACB3;

52A16
+ 9FE244

A50Cy4

86BC 15
2916)15941C1g

C70316
B215)8A601614

4F2F 6
— 44E8;

A6
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Operations with Hexadecimal Numbers (C)

16E00+6

— FA3Cy4

4914)3DDC7014

D216)90CDEC ¢

8D97 16

— BbBBOyg

120216

X E9i4

Calculate each answer.

6815)170FAO ¢

10AE614

— 26B4y4

9EAT7 1

— 935844

9C1644

X EO6

1A7D7 16

— C02844

6E15)3EC49816

EFF616

— DAAyq

D014)26E3901g

F195¢4

X EFyg

FB1)46DF934

EB371¢
+ BEABy;

E91Cy6
X 9Big

5CC216
X 6216

FA1)9D145A 4

1825414
— C81Byg
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Operations with Hexadecimal Numbers (C) Answers

16E00+6

— FA3Cy4

73C4 16

D8FO0;4

4914)3DDC701

B08614

D216)90CDEC ¢

8D97 16

— BbBBOyg

31E715

120216

X E9i4

1063D214

Calculate each answer.

38C4 14

6815)170FAO ¢

10AE614

— 26B4y4

E4326

9EAT7 1

— 935844

B4F ¢

9C1644

X EO6

88934016

1A7D7 16

— C02844

E7AF g

92144

6E15)3EC49816

EFF616

— DAAyq

E24C6

2FDDyg

D014)26E3901g

F195¢4

X EFyg

E18A1Bg

48494

FB1)46DF934

EB371
+ BEABy;

1A9E2;

E91Cy6
X 9Big

8D23F4 4

5CC216
X 6216

2382444

ABD9;4
FA1)9D145A 4

1825414
— C81Byg

BA39;4
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Operations with Hexadecimal Numbers (D)

7816)A1CES

11B7Dy4

— 767Dy4

4C0814

+ FDDA4

2C14)17655414

2C6By4

+ 1FFA4

Calculate each answer.

E9E314

+ 53DCy4

D256

X BByg

930244

X Edq6

F8814

+ D2BAg

B1A9y,

X F2i6

974Eq

X 7416

DCD146

— A3AOq¢

5A15)1003ECyg

941844

X 2216

CA9A ;g

X AEqg

1EE2F
— F0384

9616)4E6E5214

1C16)B1BCyg

6ABF ¢
+ ED29+¢

9AAC4
X 3Eig
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Operations with Hexadecimal Numbers (D) Answers

159344

7816>A1CE816

11B7Dy4

— 767Dy4

A50016

4C0814

+ FDDA4

149E2,

881F;

2C14)17655414

2C6By4

+ 1FFA4

4C6514

Calculate each answer.

E9E314

+ 53DCy4

13DBF;

D256

X BByg

99A4D2;4

930215
X Edq6

82EDC86

F8814

+ D2BAyg

E2426

B1A9y,

X F2i6

ATF1C246

974Eq

X 7416

448F586

DCD146

— A3AOq¢

39316

2D8E 5

5A15)1003ECyg

941844

X 2216

13AB301¢

CA9A ;g

X AEqg

89B4AC g

1EE2F
— F0384

FDF716

85DBy;
9616)4E6E52:4

6596
1C16)B1BCyg

6ABF ¢
+ ED29+¢

157ES 4

9AAC4
X 3Eig

2575A8454
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Operations with Hexadecimal Numbers (E)

FEES ¢

— C60F 4

DC16)246B5C

321046

X 2216

43616

X 43146

7CEDq6

X D4y

Calculate each answer.

1968445

— 8625

7A16)4848ECy

FCO716

— 662614

A56044

+ A27Dyg

8F3F 5

X 6Dg

D98Cy6

+ 355C15

C314)521403 14

3816)120ED8

D462

+ 8E284

50294

— 2B761¢

42BCyg
X 2Eqi6

F8DA g
X E316

BBAG
X Fig

905016
X Chig

5B15)11AA461

Math-Drills.com




Operations with Hexadecimal Numbers (E) Answers

FEES ¢

— C60F 4

38D96

246116

DC16)246B5C

321046

X 2216

6A62014

43616

X 43146

11A22;5

7CEDy¢
X D4y

6774444

Calculate each answer.

1968445

— 8625

EE226

97AEq6

7A16)4848ECy

FCO716

— 662614

95E116

A56044

+ A27Dyg

147DDy;

8F3F
X 6Dg

3CFDD36

D98Cyg

+ 355C15

10EES

6BC1y6

C314)521403 14

528D

3816)120ED8

D462

+ 8E284

1628414

50294

— 2B761¢

24B3 5

42BCyg
X 2Eqi6

BFDC86

F8DA g
X E316

DCA94E, ¢

BBAG
X Fig

AFEBA;4

905016
X Chig

6E7D406

31B2;
5B15)11AA461
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Operations with Hexadecimal Numbers (F)

Calculate each answer.

TF16)763C2B14 944Fq4 CCOA6 DDC51¢
— 904616 X D216 + 33F1
90DF14 9FF014 89E614 144714
— 276Dy4 — 310714 — B90y¢ — TFDE4
5F16)245D4216 566516 17DF91¢ ACEO16
— 54CBy4 — AD2Dy4 X AT
97AE16 101DF16 F61316 A716)75B51016
+ A24A4 — 698544 X 586
D914)C7E3516 C97616 1017245 FO16)5542E0
— 714944 — 9Cb444
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Operations with Hexadecimal Numbers (F) Answers

EE556

7F14)763C2Byg

90DF ¢

— 276Dy

697216

61FE ;g

5F16)245D42;

97AE;

+ A24A4

139F815

EBD1g

D914)C7E351g

Calculate each answer.

944F 4

— 904614

4096

9FF01;

— 310714

6EE9;¢

566514

— 54CByg

19444

101DF 5

— 698514

985A16

C97616

— 71494

582D

CCOAy4

X D216

A760346

89E614

— B90y¢

7TE5615

17DF946

— AD2Dyg

DOCCy6

F6134

X 586

54968815

1017216

— 9Cb444

651E5

DDCb51¢
+ 33F144

111B6,

1447144
— TFDEj4

C4936

ACEOq4
X AT

70062016

B4701¢
A716)75B51046

5AF2;6
FO16)5542E04
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Operations with Hexadecimal Numbers (G)

10FACyg

— 6B62¢¢

DA5Dyg

X 2516

255B4

+ 41174

AA16)2BEA94 g

8D5B1g

X 1By

Calculate each answer.

7A515
+ 894F

91,6)70A20B 4

X 1Eq6

3A15)26D094 4

8616)3BIF7014

950B6
X 596

EA6Cy4

X 8316

BCE14

12CDF 5

— BCD34¢

46C114

X 3416

1B3E;g

X 2Ci6

9814)433E0 g

C0945
X 4716

34216

X bEig

35F844
+ 8D346

1752By4

— 8CEByg
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Operations with Hexadecimal Numbers (G) Answers

10FACyg

— 6B62¢¢

A4AA

DA5Dyg

X 2516

1F8F 7146

255B4

+ 41174

667216

42226

A1) 2BEA94

8D5B1g

X 1By

EE89915

Calculate each answer.

TAbB144

+ 894F 4

103A015

C6DB1;

9116)70A20B14

AB5245

3A15)26D094 4

71E816

8616)3BIF7014

950B6

X 596

33D0D3+¢

EA6Cy4

X 8316

TTF544 4

BCE14

X 1Eq6

16225E

12CDF 5

— BCD34¢

700C;6

46C114

X 3416

E5F34:4

1B3E;g

X 2Ci6

4AFAS 4

7144
9814)433E0; 4

C0945
X 4716

3567F 5

342A6
X bEig

13276C

35F844
+ 8D346
3ECByg

1752B1
— 8CEByg

E84044
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Operations with Hexadecimal Numbers (H)

C616)35E17Cyg

OE;)7CDA4A ¢

656814

— 356Cy4

3A3By;

+ TAAT g

2216)1BB60C ¢

Calculate each answer.

E4D4 ¢

X 2216

4F554

+ A48544

15EA34

— EC5044

A716)853BCB1g

A7A944

— 90BEg

AD214

+ 630314

3816)267B3015

941345

X 8616

EFF614

+ BBCDqg

12A0A 6

— 39EDq¢

1214)BC1181

78B4

— 727Dy

418F 5

X F3i6

32Cqg
X A716

1F1Aq

+ 619044
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Operations with Hexadecimal Numbers (H) Answers

45AA 6

C616)35E17Cyg

CA4Byq

OE;)7CDA4A ¢

656814

— 356Cy4

2FFCyg

3A3By;

+ TAAT g

B4E26

DOA6 ¢

2216)1BB60C¢

Calculate each answer.

E4D4 ¢

X 2216

1E642816

4F554

+ A48544

F3DAg

15EA34

— EC5044

72535

CC3Dy6

A716)853BCB1g

A7A944

— 90BEg

16EB

AD214

+ 630315

1102415

AFEA 4

3816)267B3014

941344
X 8616

4D81F24

EFF614

+ BBCDqg

1ABC36

12A0A 6

— 39EDq¢

FO1Dyg

A72Cy4

1214)BC1181

78B4

— 727Dy

63716

418F 4
X F3i6

3E3ABD;4

32Cqg
X A716

211B4;4

1F1Aq

+ 619044

80AAq6
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Operations with Hexadecimal Numbers (1)

AOCb544

X 4716

D6C514

X 2616

FA;)BD962E ¢

642216

X 8Big

16F3216

— C47544

Calculate each answer.

4414)2576A8 14

2AFE; ¢

+ 7AFDyg

1CA714

X D216

DFBSyg

+ 2CBCy4

668716

+ AC3334

F251 46

— 36Cy6

916044

X 916

A216)9EF78A 4

641Cy6

+ EABb545

441Byg

+ E152454

6F3F 6

+ A21F4

1EE5;4

+ 20725

119E244

— AB3F ¢

6FECy6

+ 132By4

ED1614

— 85D2;5
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Operations with Hexadecimal Numbers (I) Answers

AOCb544

X 4716

2096A314

D6C514

X 2616

1FE13E;

C22344

FA;)BD962E ¢

642216

X 8Big

365E761¢

16F3216

— C47544

AABD;4

Calculate each answer.

8DOA

4414)2576A8 14

2AFE; ¢

+ 7AFDyg

ASEBy¢

1CA7 16
X D216

1780FE g

DFBSyg

+ 2CBCyg

10C7444

668716

+ AC3334

112BA ;g

F251 46

— 36Cy6

EEES5 g

916044

X 916

51C6016

FB35¢

A216)9EF78A 4

641Cy6

+ EABb545

14ED1

441Byg

+ E152454

1256D14

6F3F 6

+ A21F4

1115E;

1EE5;4

+ 207214

3EF5716

119E244

— AB3F ¢

7T4A36

6FECy6

+ 132By4

831716

ED1614

— 85D2;5

67444
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Operations with Hexadecimal Numbers (J)

F4,4)DD7C741

2F 314

+ 96DAy4

B86B

X 2Byg

2DDO01g

+ 2BDF4

3516)800291¢

Calculate each answer.

8A15)775BAE 4

154C914
— DF41y4

8F16)3202F84

C58314
+ TEDDy4

C1BDyg
+ ABFy4

ABE5 4

X 6916

795914

— 25BByg

CE16)2F0BC26

CCi6)C420B4 4

3616)2823D24

AA16)71B88 g

73E616
X B3ig

E91E4
+ 42BDqg

37FEq¢
+ AFBFg4

B316)31E33Bg

Math-Drills.com




Operations with Hexadecimal Numbers (J) Answers

ES6116

F4,4)DD7C741

2F 314

+ 96DAy4

99CD;6

BS6Bg
X 2Byg

1EF9F9

2DD0qg

+ 2BDF4

59AF

26A56

3516)800291¢

Calculate each answer.

DD6B
8A16)7T5BAE ¢

154C914
— DF41y4

758815

598814
8F16)3202F84

C58314
+ TEDDy4

1446014

C1BDyg
+ ABFy4
CC7Cyg

ABE5 4

X 6916

4680ED; ¢

795914

— 25BByg

539E;6

3A7T716

CE16)2F0BC26

F61F g

CCi6)C420B4 4

BE4B4

3616)2823D24

AB4q
AA16)71B88 g

73E616
X B3ig

5109D2;4

E91E4
+ 42BDqg

12BDB;

37FEq¢
+ AFBFg4

E7BDyg

47596
B316)31E33Bg
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